= o
A & 0l & AF 2 E A A
20229 & Z0la LB H 23 F
fAM: 2=
HE: SHNLE L BE
Sel 2E Rz 2 29 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oM s 6,375,236 5,109,838 1,265,398
= 8,000
J| 1,001,292
= 526,446
Al 4,839,498
2oz & EE 448,800 761,700 A 312,900
= 8,000
J| 188,000
< 41,200
Al 211,600
FoM sA2el & 29 387,000 699,900 A 312,900
= 8,000
J| 188,000
< 37,600
Al 153,400
SEFH e 28,400 80,900 252,500
201 et 1,400 3,900 A 2,500
01 At 2teltl 1,400 3,900 22,500
OHEZsMESAE 3
100,000 »7H 23] 1,400
203 YR =2t 7,000 7,000 0
03 Al =AY R =& 7,000 7,000 0
O30, MSA AMBEFIZSFAH|
7,000,000& 7,000
401 AIEHI L 2 CHYI 20,000 20,000 0
01 A& HI 20,000 20,000 0
OSERA el L FHI(100h4)
20,000,000& 20,000
SEANZZ 2T 14,000 14,000 0
201 L2l 8,000 8,000 0
01 At 22l 2,000 2,000 0
Oget=&H| 2,000,000& 2,000
02 =24l 6,000 6,000 0
Oo&lIgs & 213 6,000,000& 6,000
301 LEAZ 6,000 6,000 0
12 JE2d =3 6,000 6,000 0
OSEANZZ RJASAX 24
10,0003 x2H x300 6,000
SFHAUEe 82 2F 28,600 50,600 A 22,000
201 ¢er24| 13,000 12,000 1,000
02 =224l 13,000 12,000 1,000
O&==2 FX2el 1,000,000& »12& 12,000




2N
X ZH -
L= B

el

Z M = ot
=M= € 2=
23 FA2Ael & 23

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OAl SE23M 2D IR
1,000, 000& 1,000
307 glz2tol & 15,600 15,600 0
02 IZtE M AHE L 15,600 15,600 0
o=z 299 15,600, 000& 15,600
MY STHAIAE SIE > 16,000 14,400 1,600
= 8,000
< 4,000
Al 4,000
201 L2l 16,000 14,400 1,600
= 8,000
< 4,000
Al 4,000
02 =224l 16,000 14,400 1,600
ONdSAE YMAIAHE 7RXE2=+ 16,000,000 16,000
= 8,000
< 4,000
Al 4,000
M THEHOEA 2te| 300,000 300,000 0
J| 188,000
< 33,600
Al 78,400
402 RI2HXt20l ™ 300,000 300,000 0
| 188,000
= 33,600
Al 78,400
02 It 2 AL EZ(OI X TH ) 300,000 300,000 0
OkL=: 2HdEH & MIIUHd WA
110,000, 000& 110,000
J| 55,000
< 16,500
Al 38,500
oYy 2ZAIatdlet & Z2UEHE ZFHl LA
190,000, 000& 190,000
| 133,000
< 17,100
Al 39,900
Z3M HsEgs N 61,800 61,800 0
< 3,600
Al 58,200
AN RS2 dsEs N2 49,800 49,800 0
301 LENZ 7,200 7,200 0
12JIE243 7,200 7,200 0
OFEZaM Il - HsERA SEXE=S
300,000 x2H «12& 7,200
307 21201 A 42,600 42,600 0




2A: 2SH=
M 2= & 2=
Sl ST HLES N CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 At AMAIEE X 30,000 33,000 A 3,000
OdtsZdgx MSAY 10,000, 000& 10,000
OSSd 2R MSALY (Al) 8,000,000& 8,000
O0lg=se d@SAY 12,000,000& 12,000
B OIAHHYBEIESIHIEX 12,600 9,600 3,000
OJIEIREESM 2 2 12,600
-olegdEgxr A2 29 XF 3,600,000 3,600
-Olgdss 2 29N A 9,000,000& 9,000
T RERSIN dAsE2Es N 12,000 12,000 0
o= 3,600
Al 8,400
307 212t0| & 12,000 12,000 0
o= 3,600
Al 8,400
02 AABHMANSEEX 12,000 12,000 0
O FEESM d&s&82s N 12,000,000 12,000
& 3,600
Al 8,400
Egossd & IE 3,048,969 2,544,882 504,087
Dl 482,610
== 361,761
Al 2,204,598
I s K& 677,795 682,625 AN 4,830
= 165,029
Al 512,766
Stz 3S29 26,400 21,580 4,820
201 Yet2 | 10,600 10,600 0
01 AtR 22l bl 4,200 4,200 0
OXNHAL 3 3| &AM ¢
100,000& *6H *23| 1,200
OSt=atAN 228 € XA 3,000,000 3,000
02 =294l 6,400 6,400 0
QoA HIIR2 S(3MA) 2,400,000& 2,400
O32xg A2l 4,000,000 4,000
202 04d| 800 980 A 180
01 2L Y| 800 980 A 180
O230l=atAL =8 L 28 800,000& 800
401 Al HI L2 THHI 15,000 10,000 5,000
01 A&t 15,000 10,000 5,000
O23til=Al& 22=H|(POOL) 15,000,000& 15,000
SEHS2AS MK 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0




2N 2HMSH
g Fo0=sd 2 &=
Hel: U240 25 X

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DI2HHALALSE E X 20,000 20,000 0
Oosds8%3 M= K& 20,000,000& 20,000
oot 2stes X 46,395 48,000 A 1,605
< 9,279
Al 37,116
307 glz2+ol & 46,395 48,000 A 1,605
= 9,279
Al 37,116
04 QIZFHALAIH B = 46,395 48,000 A 1,605
OO0t 23t&s XA (193) 46,395,000& 46,395
< 9,279
Al 37,116
SEd SEM=H 58,500 58,500 0
307 Qiz2+ol & 58,500 58,500 0
04 DIZHHALALSE E X 58,500 58,500 0
Osd Z&g0=Hd Mzl XA 58,500,000 58,500
Helg2 U ol=(deArg) 12,500 12,500 0
< 3,750
Al 8,750
201 LB-2EH| 12,500 12,500 0
< 3,750
Al 8,750
03 A2 Z Hl 12,500 12,500 0
OXNelg U= o= (253) 12,500,000& 12,500
= 3,750
Al 8,750
SE& SHAEY WA XA 250,000 250,000 0
< 65,000
Al 185,000
307 glz2+ol & 250,000 250,000 0
< 65,000
Al 185,000
04 QIZFHALAIH B = 250,000 250,000 0
O HAEY ME(SOIFHNIESAY)
250,000, 000& 250,000
< 65,000
Al 185,000
MALS S iz X 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
O&tArE %3l Izl K& 30,000,000 30,000
SEFHEFLEIAAER MESYSE HE XA 5,000 5,000 0
307 21201 A 5,000 5,000 0




fAM: 2=
My 250a84 ¥ AE
Sl BelSs0z 25 NS CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 5,000 5,000 0
OdES2d3 M=l K& 5,000,000& 5,000
Lo 2 HAE 3A Oz N 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OB E2HAEZ FINHFS W XA
10,000, 000& 10,000
s <23 Mz XN 5,000 4,000 1,000
307 glz2tol & 5,000 4,000 1,000
04 QIZFHALAIH E = 5,000 4,000 1,000
Oxnss%ds M= X 5,000,000& 5,000
Ol &M 8 f12 dE 30,000 30,000 0
< 10,000
Al 20,000
307 21201 A 30,000 30,000 0
< 10,000
Al 20,000
04 QIZFHALAIH B = 30,000 30,000 0
O0l=3t M 8 AJAS (S0 HNIEHSA
&) 30,000,000& 30,000
= 10,000
Al 20,000
SYENME ME XA 50,000 50,000 0
< 20,000
Al 30,000
307 glz2+ol & 50,000 50,000 0
< 20,000
Al 30,000
04 QIZFHALAIH E = 50,000 50,000 0
OHY2ME Mzl AN (SOIAHUIESAAL)
50,000,000& 50,000
< 20,000
Al 30,000
S&& FEHINHAM Mzl X3 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
02 QIZtE M AMHEE 20,000 0 20,000
OsFd SEEINHM Nzl X
20,000,000& 20,000
I (SFH) St & @A & 114,000 92,800 21,200
= 57,000
Al 57,000
307 I+l & 114,000 92,800 21,200
S 57,000
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Sl BelSs0z 25 NS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 57,000
04 QIZFHALAIH E = 114,000 92,800 21,200
O=sta & &AL XI& 114,000, 000& 114,000
< 57,000
Al 57,000
s XS 23 g5 XE 2,014,010 1,598,951 415,059
J| 482,610
= 177,050
Al 1,354,350
ZEUE S0 =M XA 31,000 31,000 0
307 21201 A 31,000 31,000 0
04 QIZFHALAIH B = 31,000 31,000 0
OZEUEEXR0 UE=0FH K& 31,000
-HA2E 3 7,000,000& 7,000
-= dE=XNdH X& 3,000,000& =8I = 24,000
AQEHSE2SHM 65,000 65,000 0
307 21201 A 65,000 65,000 0
04 QIZFHALAIR B & 65,000 65,000 0
OAQHZ2M &€ Hradz AW S
65,000,000& 65,000
S AMUs=0HE 29 23,000 23,000 0
307 21201 A 23,000 23,000 0
02 HIAFLAHFEX 23,000 23,000 0
OsSFHARG=LE 23,000,000 23,000
A2 Sotel €52 & dAEsS N2 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE 2 X 10,000 10,000 0
Os2ME32d Mzl K& 3,000,000& 3,000
Og=3slad Ha XA 2,000,000& 2,000
O27a2 Hazdl 2H X 3,000,000& 3,000
O&ofeIgie A28 = XA 2,000,000& 2,000
MY XA 17,000 13,000 4,000
307 glz2+ol & 17,000 13,000 4,000
02 IZtE M AHEE 17,000 13,000 4,000
O=stAty XI& 17,000, 000& 17,000
= AS0HY HE XA 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 QIZFSHALAIR B = 12,000 12,000 0
O=<storg JHE X& 12,000, 000& 12,000
EaAAAHNE =ML 3,000 3,000 0
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fAM: 2=
N 2s0sg8 ¥ AE
S HS XY 25 ¢S X CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o4l 7¢ 1,000, 000& 1,000
ANE0lgsat 3A 5,000 5,000 0
201 L2l 5,000 5,000 0
03 &Ar2 I 5,000 5,000 0
OAEolgsat ZIlH=3 5,000,000& 5,000
AJSOIS0EH &I N 10,000 15,000 25,000
< 3,000
Al 7,000
307 21201 A 10,000 15,000 A5,000
< 3,000
Al 7,000
04 QIZFHALAIR B = 10,000 15,000 A5,000
OZJTUH0=H &It NA(HAER)
10,000, 000& 10,000
< 3,000
Al 7,000
ALzt =4 129,855 132, 164 A 2,309
307 21201 A 129,855 132, 164 A 2,309
02 QIAHFAAHEX 40,200 43,200 A 3,000
OXg=sta mMgeas N 40,200,000 40,200
03 BIAHMNHE2IHIEL 89,655 88,964 691
OXg=3d 2dH s N 89,655
-ol2Add| XI& 78,454,080 78,455
-J&42d9H XA 11,200, 000& 11,200
F3==H =4 XA 86,355 84,649 1,706
307 glz2tol & 86,355 84,649 1,706
03 QIAHMNHE2IHIEE 86,355 81,649 4,706
OSF&UHSE 24 s N& 86,355
-olAd| XI& 79,954,080 79,955
-APRAR2IH S 6,400,000& 6,400
EEgRINE2Z0SA(2stFal) 696,300 569,700 126,600
J| 482,610
< 32,050
Al 181,640
308 XXM SO A 696,300 569,700 126,600
J| 482,610
< 32,050
Al 181,640
3 2SO0HetE & X A I 696,300 569,700 126,600
OsSgstdMs2aZ08d X (6,963Y)
696,300,000 696,300
J| 482,610
< 32,050




EX: S3Hs
My 250a84 ¥ AE
@2 M8, XN 23 g5 N (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| Al 181,640
235, NESH EHAY 18,000 27,000 A9,000
& 9,000
Al 9,000
307 2Iz2to| & 18,000 0 18,000
= 9,000
Al 9,000
02 QIZHAE AAIE E X 18,000 0 18,000
O239 ¢ XNYstH E2 (AL 8s=)
14,000,000& 14,000
& 7,000
Al 7,000
Of23te ¢ XN<YstH S (AHs64E)
4,000,000& 4,000
= 2,000
Al 2,000
d=2z2dAH 2 = FEH XS 13,800 13,800 0
307 212t0| & 13,800 13,800 0
04 SIZ2ISHAAISHE E X 13,800 13,800 0
OFZ=%PN U S5 5H U
13,800,000& 13,800
MESSINHEH 2HEHS 5,400 5,400 0]
201 et d| 5,400 5,400 0
01 AR 22l ] 3,400 3,400 0
Ogtt4f2y| 3,400,000& 3,400
02 2224 H| 2,000 2,000 0
OdII=2 = 2,000,000& 2,000
ESEEHd A4 0zsHA 8,000 8,000 0
307 QI2t0| & 8,000 8,000 0
04 CIZ2tSH APALS B = 8,000 8,000 0
Os&d d3AE OlsUE 8,000,000& 8,000
D=2 E)|a8d X 3,000 2,000 1,000
307 2I2t0| ™ 3,000 2,000 1,000
02 QI2tAMAIE E X 3,000 2,000 1,000
Ob0l=Z&JF I8 d JH=l XI€¥ 3,000,000 3,000
NE2EEHE 29 K& 15,000 15,000 0
307 2Iz2to| A 15,000 15,000 0
03 QIZEH P ESIHIEX 15,000 15,000 0
OXNYG2sd20sE 2 X (=2d HE)
15,000,000& 15,000
ME R Es A 5,000 5,000 0
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= _ — d =
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201 ¢er24| 5,000 5,000 0
03 A2 Z Hl 5,000 5,000 0
OMazst UERZa = S 5,000,000& 5,000
MERS=H A 10,000 10,000 0
201 L4l 10,000 10,000 0
03 &Ar2 I 10,000 10,000 0
OM&=Zst=HM HA 10,000, 000& 10,000
S5 S =M A XA 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
Os5d Y23 U=H =l X
20,000,000& 20,000
Zoiel 2stolls XA 10,000 6,100 3,900
< 3,000
Al 7,000
307 21201 A 10,000 6,100 3,900
< 3,000
Al 7,000
02 YAFHAANGFEX 10,000 6,100 3,900
OZOHel o=t &&&s XI&  10,000,000& 10,000
< 3,000
Al 7,000
230l Z2HE 200,000 110,038 89,962
< 30,000
Al 170,000
307 21201 A 200,000 0 200,000
= 30,000
Al 170,000
02 It S AIHE L 200,000 0 200,000
O330ls ZE2HE X 200,000, 000& 200,000
< 30,000
Al 170,000
32 EHY 200,000 0 200,000
< 100,000
Al 100,000
401 Al HIZ 201 I 200,000 0 200,000
< 100,000
Al 100,000
01 A& HI 200,000 0 200,000
OS&Fd =8=2RU &X 200,000, 000& 200,000
< 100,000
Al 100,000
AEe HNYMY X 4,000 4,000 0
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2N
X ZH -
L= B

el

=N
2sssy L NE
HAYE HR+5Ts e

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O 42X L Is4+8 300,000 300
401 A& H|IZ 2 0HY| 9,000 4,000 5,000
01 Al& B 9,000 4,000 5,000
OCCTV & Xl 5,000,000& 5,000
OAIEZE HIICHHEA(IEAEE)
4,000,000 4,000
ANRLEsSsHSGEIZ 2 AIEES 111,000 62,000 49,000
206 M = Hl 3,000 0 3,000
01 X2 bl 3,000 0 3,000
OOFEAIE 2 ¥ &0 2 3,000,000& 3,000
401 AlEHIZL £ 0HY| 101,000 57,000 44,000
01 Al&H| 101,000 57,000 44,000
Ottsa 28X ¢ = 19,000,000& 19,000
ogtsa =& otAE T H 42,000,000 42,000
Oetsa2 A & WX 40,000,000 40,000
405 KHoHFE S HI 7,000 5,000 2,000
01 XA 2B F S| 7,000 5,000 2,000
QES2 ANEsIE 2RI (MsEYE S)
2,000,000& 2,000
Qers2 oFQYI X (1270) #¢ 5,000,000& 5,000
IIHBANSY(NASE0E SHE SLAY)(HEA 15,607 15,380 227
o)
& 4,682
Al 10,925
201 LBt | 15,607 15,380 227
& 4,682
Al 10,925
03 Al H H| 15,607 15,380 227
ot JI=H™AlS = 15,607,000& 15,607
o 4,682
Al 10,925
B2 HEOH) S AR 20,000 20,000 0
201 YEt2 Ayl 10,000 10,000 0
03 A2 Y| 10,000 10,000 0
Qe 22O A 29 10,000,000& 10,000
401 AlEHIZL 201 Y| 10,000 10,000 0
04 SHAF2HS Al & HI 10,000 10,000 0
OdAZHA AIE2 X L 72 10,000,000 10,000
R FHIY I[N S 2 SHE 9 30,000 0 30,000
A& JHA]
o= 15,000
Al 15,000




EX: S3Hs
My 250a84 ¥ AE
e LHAUE RSttt 89 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
1T AIEHIZ 20| 30,000 0 30,000
== 15,000
Al 15,000
01 Al&H| 30,000 0 30,000
OS2 SHEJAAL A
30,000,000 30,000
&< 15,000
Al 15,000
N 4 2,852,467 1,774,816 1,077,651
J| 330,682
== 123,485
Al 2,398,300
HM=AE =4 1,223,430 428,000 795,430
Jl 36,000
Al 1,187,430
HEAAE &bl 463,430 428,000 35,430
201 et d| 37,430 24,000 13,430
01 AFR 2t 2| bl 19,430 6,000 13,430
OZ2Z2HESAE FAE4x A28 2¢
1,000,000 1,000
OZ2Z2HMEANE 2L Y X2
5,000,000& 5,000
OFCcd MEHIZE 2R AIEE
13,430,000& 13,430
02 E232%H| 18,000 18,000 0
OHEQH NERE Aot 229
3,000,000 3,000
OZ2Z2H=SAE KA 15,000,000 15,000
401 AlEHIZL £ 0HY| 426,000 404,000 22,000
01 Al&H| 422,000 400,000 22,000
OZ2Z2HMEAE X & SIS
400,000,000 400,000
OsWHxE &O o= 2H(93) 22,000,000 22,000
03 Al 20| 4,000 4,000 0
OZ3HM=SAIE X & S22l 4,000,000 4,000
S¢Sty 28 AILdHA 480,000 0 480,000
401 Al EHI L 204 HI 480,000 0 480,000
1 Al&H| 480,000 0 480,000
OsYdUen SS& FAZTHALE &
250,000,000 250,000
Os2distn 2= SHAL (22X, d2)
A X 230,000,000& 230,000
S dMEjsadd X4 160,000 0 160,000
401 Al HI L 2 0HHI 160,000 0 160,000




2N 2HMSH
N MsNY |4

&S MSAE =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 160,000 0 160,000
Sy dENSZE 502 25)
160,000, 000& 160,000
S3HE E=ANE HE= 120,000 0 120,000
Jl| 36,000
Al 84,000
401 Al HI K 201 I 120,000 0 120,000
J| 36,000
Al 84,000
01 A& HI 120,000 0 120,000
O2ZHMSAE HE(SEF) 120,000,000 120,000
J| 36,000
Al 84,000
M=tial & 563,300 586,404 A 23,104
Hslis =813 331,300 313,404 17,896
202 oddl 300 1,220 A 920
01 = LH o4 1l 300 1,220 A 920
OdsdsE g% =& 300,000& 300
307 21201 A 331,000 312,184 18,816
02 IAFAAHFEX 331,000 312,184 18,816
OHM33al I dHsUHsd 28
110,000, 000& 110,000
OHMe8al HIIZH=U2 28 2x
85,000,000& 85,000
OEXADI & E2&H) 528 MU &8
50,000,000& 50,000
O3l & &= dEHsU 538 =28 &
Mz X2 41,000,000& 41,000
OZJ& Zofel MEH=sUs &8 2 Mzl X
2 13,000, 000& 13,000
OZJlk ZHeld=tial & 13,000, 000& 13,000
OZMY 5= MUz & =03 =&
19,000, 000& 19,000
A MTBOHE JHzl KT 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
OHM16sl sS& 224t MBI JHE XI&
50,000,000& 50,000
ANEI| HEHFOHS N 56,000 56,000 0
201 et 56,000 0 56,000
03 & Ar2 I 56,000 0 56,000

02022 SSFEHAEI MU N
56,000,000 56,000




2N 2HMSH
N MsNY |4

&??: M XA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
8.15 &=718 =203 Mzl X2 10,000 10,000 0

307 gl2tol & 10,000 10,000 0
04 DI2ZHHALALSE E X 10,000 10,000 0
OHMe67al 8.15 & =03 Mzl K&
10,000, 000& 10,000
ZdEUs oHE XA 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
Od=Usal Mzl XA 10,000, 000& 10,000
S8l HE XN 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
OSCHUSEH 22403 Ha X
7,000,000 7,000
ZII=282 AHOIE=U=2 Nz XA 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OZJl S2X49 AHoE=U3 Nzl X
8,000,000 8,000
=M Edigeld thal izl XA 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIR 2 = 40,000 40,000 0
Oxgsl s&& =2M EcldALdUal Mzl X
40,000,000& 40,000
SFCEEY S d=2=3203 Wz XA 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OFLEEtl d=2=5203 Wl XA
5,000,000& 5,000
SCEE S5 =2 K448 =203 HA 20,000 20,000 0
201 L2l 20,000 0 20,000
03 A2 I 20,000 0 20,000
OHN6zal FSEHsFEW 83 a8 =203
i = 20,000,000& 20,000
ChE23t =203 Mzl XA 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
Ot=s =703 Mzl X 3,000,000& 3,000

ANZHH oo dEM=Uzl Wz X 9,000 9,000 0




2N
CHSMY |

el

X ZH
S =

Z M = ot

M=z XA

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 9,000 9,000 0
04 DI2HHALALSE E X 9,000 9,000 0
OAEHY ZOoHe MEMSUE MHEl X
9,000,000& 9,000
5 324 U iz X3 14,000 0 14,000
307 21201 A 14,000 0 14,000
04 DIZHHALALSE E X 14,000 0 14,000
O% - -da4d SgUsa Hza XA
14,000, 000& 14,000
ANl Hs2 54 2 2 879,237 732,412 146,825
| 294,682
= 123,485
Al 461,070
AN s3] 299 298,331 299,319 A 988
201 Let24d]| 11,800 11,800 0
01 At 22l 7,800 7,800 0
ONSHEHAS slBM 49
100,000 *8H x 13| 800
OM=sgA 222 HM&E & =&t
7,000,000& 7,000
02 =224l 4,000 4,000 0
OZEXE |A2eltl 4,000,000& 4,000
301 LEMZ 5,000 5,000 0
09 HALAHIX A S 5,000 5,000 0
OMsgA 28 XA 5,000,000& 5,000
307 glz2+ol & 281,531 262,719 18,812
03 QIAHMNHE2IHIEE 281,531 262,719 18,812
OAl M=s3 84 X2 (4Y) 227,231
] 189,898, 000& 189,898
“EASH HEg 3 18,229,000& 18,229
= == 19, 104,000& 19,104
OAl H=3 29 X& 23,900,000& 23,900
OMENMESXNEXN 2 30,400
-S4Xd3 19,600,000 19,600
- A G A 100,000& x9H »12& 10,800
ULIMEH XA BHIX(2SXA) 119,188 116,928 2,260
J| 59,594
< 29,797
Al 29,797
307 gl2tol & 119,188 116,928 2,260
J| 59,594
< 29,797




AN 23HSD
2

3 MsaY |4
Sl Al HSE 58 2 29 EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 29,797
03 QIAHNHE2IHIEE 119,188 116,928 2,260
OYLBIMERSXSA I (2SKHA)
119,188,000& 119,188
J| 59,594
< 29,797
Al 29,797
HEAMEMNSXEX BHX(2SXH) 148,985 146, 160 2,825
J| 74,493
< 37,246
Al 37,246
307 g1+l & 148,985 146,160 2,825
J| 74,493
< 37,246
Al 37,246
03 BIAHNHE2IHIEE 148,985 146, 160 2,825
ONENMEMNSXNESX I (2SXH)
148,985, 000& 148,985
J| 74,493
< 37,246
Al 37,246
ZOHC MEMSXZA HX(2SKH) 29,640 0 29,640
J| 14,820
< 7,410
Al 7,410
307 glz2tol & 29,640 0 29,640
Jl| 14,820
= 7,410
Al 7,410
03 BIAHNHE2IHIEL 29,640 0 29,640
OZOQ MEMSANEZX HHX K&
29,640,000 29,640
J| 14,820
< 7,410
Al 7,410
MEHSNEAN HRHL 39,993 10,737 29,256
< 5,369
Al 34,624
307 glz2tol & 39,993 10,737 29,256
< 5,369
Al 34,624
03 BIAHNHE2IHIEL 39,993 10,737 29,256
QUEMSXTA HRMHL(HE+E L HAR
g43) 10,737,000& 10,737
< 5,369
Al 5,368
Ogs0tl & 25+2(9%) 29,256
-2s0l 25,056,000 25,056




2N

Z M = ot

HH: YR K4
Sl Al HSE 58 2 29 (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
254 4,200,000& 4,200
ZoHe MENSXNEZA HHL 1,193 0 1,193
< 596
Al 597
307 21201 A 1,193 0 1,193
< 596
Al 597
03 QIAHMNHE2IHIEE 1,193 0 1,193
OXel MEMSANEA MM (HE>E L
HERLSZ) 1,193,000& 1,193
< 596
Al 597
zSA2Z=2Y 54 A& 23,657 21,668 1,989
< 11,829
Al 11,828
307 glz2+ol & 23,657 21,668 1,989
< 11,829
Al 11,828
02 IZtE A AMHEE 23,657 21,668 1,989
OxzsSA2Z=x2E 2AME S N&E
23,657,000& 23,657
< 11,829
Al 11,828
AEZEAHN0IEA KR 197,200 137,600 59,600
J| 138,040
< 29,580
Al 29,580
301 LEXZ 197,200 137,600 59,600
J| 138,040
= 29,580
Al 29,580
12 JIE2 4= 197,200 137,600 59,600
OAZ=AH018A XA (232Y)
197,200, 000& 197,200
J| 138,040
< 29,580
Al 29,580
FHAAZ=2AR0IEA XA 11,050 0 11,050
J| 7,735
= 1,658
Al 1,657
301 LBEAZ 11,050 0 11,050
Jl| 7,735
< 1,658
Al 1,657
12JE2d =3 11,050 0 11,050




SH: 2o
Hu: HSMNY F&

Sl Al HSE 58 2 29 EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFMAAZ=AX0IEA XA (13Y)
11,050, 000& 11,050
J| 7,735
< 1,658
Al 1,657
HESAE HelolssttHA 2HIIEEX £ 10,000 0 10,000
301 EEMZ 10,000 0 10,000
12243 10,000 0 10,000
OMSAE HElolSsHA 2YIISEX &X
A& 10,000, 000& 10,000
MEHE 2 I2HE |4 186,500 28,000 158,500
MEHsNY 482Y 30,000 23,000 7,000
307 21201 A 30,000 23,000 7,000
04 QIZFHALAIR B = 30,000 23,000 7,000
Odeisnd 28 € MsE3 N
30,000,000& 30,000
StNHMEAE AHEZE X& 1,500 5,000 A 3,500
307 21201 A 1,500 5,000 A 3,500
02 HAFHAANFEE 1,500 5,000 A 3,500
OSFEA SUHSAE AIEZ K&
1,500, 000& 1,500
GAEZ=2Y 29Z 81,000 0 81,000
307 izl & 81,000 0 81,000
02 IZtE M AHE X 81,000 0 81,000
OGAZ=ZY (4, AL, &32) 28 X
27,000,000 x35 = 81,000
gn2s2 NEX 84 X2 18,000 0 18,000
308 XX EHSOIA 18,000 0 18,000
08 WSII20HStE = 18,000 0 18,000
OstN2sR(|Y, 24, f) A&k 841
23 A= 500,000& 3 «12& 18,000
dEHsE =4 NE 56,000 0 56,000
307 2201 A 56,000 0 56,000
02 It S AHE L 56,000 0 56,000
Ogtuzsdll= XA 21,000
-& - Ot 3= &b 6,000,000 6,000
S N2s® E3H 3,000,000& *501 2 15,000
Of+=d=s s4X& 35,000
-SN2s® s 28 X2 25,000,000& 25,000
-SHH 23 1,000, 000 404 EF Xl 4,000




2H: 23S
HE: HSAY 84
Sl MEHS L A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Sxf+ cHed Heolz @ B8 A4
6,000,000& 6,000
HE2LAZH (2 A=) 25,000 28,440 A 3,440
Jl2dul(2stds) 25,000 28,440 A 3,440
J2dHl (2 =) 25,000 28,440 A 3,440
201 2et24d] 12,000 12,000 0
01 At 2teltl 12,000 12,000 0
ORA2IE AR 22| 12,000, 000& 12,000
202 O4dl 10,000 13,440 A 3,440
01 =S LHOYI 10,000 13,440 N 3,440
OJl2ge==8utl(14¥) 10,000, 000& 10,000
203 YR =2t 3,000 3,000 0
04 FN2ELSZ=TH| 3,000 3,000 0
ORNM2ZIRF&HI(1521015t)

250,000& »12& 3,000




